Part 1l Examin

Eastern University, Sri Lanka
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Answer all questions,

L. You are given following inform
a) Fixed cost of the project
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ation with repard to a project.
is Rs. 900/= per day

b) A maximum of three days can be saved from cach activity of the project,

The additional cost for cach d
the activity:.
¢) The normal cost of an aclivity
d) Project activitics information:

is Rs. 1000/= per day
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You are required Lo find the lollowing.

ay saved is 5% of the total normal cost of

A) Normal duration, normal cost, and critical path of the project.

B) Minimum duration and its

X Limiled has three factories (
M3, M4). The following table provides information
market, quantity demanded, and supply available to meet

aboul

As a gene

Note: Use nortlhwest corner rule for
oplimality testing.

F1, 12, I'3) and supplies to [

= _ Unitprofit(Rs) —
From "~ M2 ] M3 | M4
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Dem: 2500 | 2500 | 3000 | 2500

ral manager of the firm, find the mininmum profit

associaled cost of the project.

(28 marks)

our markets (M1, M2,
per unil profit from a
the demand.

Supply
| 3500

3500
3500

10500

available to the firm.

milial allocation and MODY method for

(24 mariks)
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o« Youare given the following Lincar Programming model.

Max Z = 40X, + 60X,

Subject to  X; +2X> <40
2X1 +5X2 <60
Xi+ Xo <40

X1, X2 =0

Required:
a) Solve the above maodel.
b) Write down the duality of the primal problem.
¢) Converl the duality model into cquality status,
(16 marks)
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a) Do you agree with Economic Order Quanlily (EOQ) = [ J o2
b) Give the situation in which the EOQ is determined at the level where the
lotal ordering cost does not equal Lo the total handling cost.
¢) Whatis a lead-time in stock controlling process?
(Note: Usial notations are i consideralion)

(16 marks)
5. Wrile short notes on the following
a) Assumplions of a lincar programming modcl
b) Critical path of a project
¢) Shadow price in linear programming
d) Tolal float of an activily.
(16 marks)



